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FLYERS - PART 7

‘There’s a lot of snow. The man can’t drive his son to
school. The boy has an idea. He puts on his skis and skis
to school’. (27 words)

There’s a lot of snow in the mountains where Harry
lives. Harry’s dad can’t drive him to town. Harry puts
on his boots and skis and skis down the hill to school.
(32 words)

There’s a lot of snow in the mountains where Harry
lives. Harry’s dad can’t drive him to town today
because there’s too much snow. First, Harry puts on his
skis and then he skis down the hill to school. He’s really
happy now. (43 words)

There’s a lot of snow in the mountains where Harry
lives. Harry’s dad says “Sorry Harry. I can’t drive you
to town today because there’s too much snow.”
Suddenly, Harry has an idea. “I’ll ski to school!” First,
he puts on his skis and then he skis down the hill to
school. He’s really happy now. “What a great way to go
to school!” he thinks. (66 words)
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